			_
D: ~	Tab.	ulation	F
BIO	I ani	Hann	EOL.

Construction of Evergreen Memorial Parkway Extension

To Serve City of Kemah

Bid Opening Date: Bid Opening Location: March 13, 2024 City of Kemah

1401 Highway 146 Kemah, TX 77565

Tabulation By:

**Tammy Endres** 

**Tabulation Date:** 

3/14/2024

LJA Project No.

E135-0440

Bidder's Name:

Total Bid Amount for Base Bid and Supplementary Items:

1) Environmental Allies, LLC

\$1,388,518.25

2) Precise Services, Inc.

\$1,422,574.00

3) iCon GC, LLC

\$1,460,000.00

4) Tandem Services, LLC

\$1,509,120.50

5) Carter Construction, LLC

\* \$1,552,566.00

6) Mar-Con Services, LLC

\$1,695,066.21

Calendar Days - 120



I, Mark Havran, P.E., hereby certify these bid tabulations to be true and correct.

<sup>\*</sup>Mathematical Error

Bid Tabulation - Bid Opening, March 13, 2024				Environmental A	Allies, LLC	Precise Service	s, Inc.	iCon GC, LLC		Tandem Services	s, LLC	Carter Constructi	ion, LLC	Mar-Con Service	eston Ave., Suite H a, TX 77503 -1800 amos narconllc.com IT TOTAL PRICE PER ITEM 14.90 \$122,850.50 33.20 \$2,324.00			
City of Kemah				9730 Windfern F	Road	22337 Sandy La	ane	14115 Norhill Poi	nte Drive	1100 Winfield La	ne	7615 FM 3180		1410 Preston Av	ve., Suite H			
Everg	Evergreen Memorial Parkway Extension			Houston, TX 770	064	Porter, TX 7736	5	Houston, TX 7704	14	Kemah, TX 7756	5	Baytown, TX 775	523	Pasadena, TX 7	7503			
	roject No. E135-0440		713-559-9372		281-354-5685		713-557-4266		281-947-8378		346-801-3792		713-473-1800					
	F-1386			Steven Crianza		Alberto Lopez		Chris Burke		Dustin Johnson		Robert Carter		Mario Ramos				
					onmentalallies.com	'		chris@icontx.com		tandem@tandem	services.com	rcarter@carter-construction.com		mario@marconllc.com				
ITEM		EST.		UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	_			
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PERITEM	PRICE	PER ITEM	PRICE				
NO.	BASE BID ITEMS	QII.	UNITS	FRICE	FERTIEN	FRICE	FERTIEN	FRICE	FERTIEN	FRICE	PERTIEW	FRICE	PERTIEN	FRICE	FERTIEW			
1	Clearing and Grubbing Existing Earth and Foliage	8,245	SY	\$1.25	\$10,306.25	\$5.10	\$42,049.50	\$32.00	\$263,840.00	\$8.00	\$65,960.00	\$12.00	\$98,940.00	\$14.90	\$122 850 50			
'	for Road, Complete in Place	0,240	01	Ψ1.20	Ψ10,000.20	ψο. 10	Ψ+2,0+0.00	Ψ02.00	Ψ200,040.00	Ψ0.00	ψου,σου.σο	Ψ12.00	ψου,υ-το.ου	φ14.00	Ψ122,000.00			
2	Existing Concrete Paving Excavation, Including	70	SY	\$20.00	\$1,400.00	\$46.50	\$3,255.00	\$32.00	\$2,240.00	\$15.00	\$1,050.00	\$37.00	\$2,590.00	\$33.20	\$2.324.00			
	Base Material, Complete in Place				<b>,</b> , , , , , , , , , , , , , , , , , ,	, , , , ,	<b>4</b> 0,2000	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	<b>,</b>	, , , , ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,,,,,,	<b>,</b> , , , , , , , , , , , , , , , , , ,	¥****	<del>+</del> =,==			
3	Cut / Excavation for Road Finished Grade, Blading	3,138	CY	\$24.00	\$75,312.00	\$20.00	\$62,760.00	\$40.00	\$125,520.00	\$16.00	\$50,208.00	\$15.00	\$47,070.00	\$15.20	\$47,697.60			
	of Excavation to Embankment Area (Less than 0.5																	
	miles), Placement and Compaction to 95%																	
	Standard Procter Density, Removal of Excess Off																	
	Site, Complete in Place.																	
4	Embankment for Road Finished Grade, Placement	522	CY	\$6.00	\$3,132.00	\$8.85	\$4,619.70	\$8.00	\$4,176.00	\$6.00	\$3,132.00	\$15.00	\$7,830.00	\$7.10	\$3,706.20			
	and Compaction to 95% Standard Procter Density,																	
<u> </u>	Complete in Place.	400	TON	#244.00	<b>#20.400.00</b>	#200 00	£40,000,00	#250.00	£44.400.00	¢275.00	<b>#47.050.00</b>	#240.00	<b>#40.040.00</b>	#207.00	£44.000.00			
5	Lime for 8-Inch Stabilized Sub-Grade (6% by Dryweight), Complete in Place (40 lb/sy)	126	TON	\$311.00	\$39,186.00	\$320.00	\$40,320.00	\$350.00	\$44,100.00	\$375.00	\$47,250.00	\$340.00	\$42,840.00	\$327.80	\$41,302.80			
6	8-Inch Stabilized Sub-Grade (Manipulation),	6,335	SY	\$7.00	\$44,345.00	\$5.00	\$31,675.00	\$10.00	\$63,350.00	\$5.50	\$34,842.50	\$5.50	\$34,842.50	\$7.00	\$44,345.00			
	Complete in Place	0,000	01	Ψ7.00	ψ++,0+0.00	ψ3.00	ψ51,075.00	ψ10.00	ψ00,000.00	ψ3.50	ψ54,042.50	ψ5.50	ψ04,042.50	Ψ1.00	ψ++,5+5.00			
7	7-Inch Reinforced Concrete Pavement (Minimum	5,435	SY	\$67.50	\$366,862.50	\$65.00	\$353,275.00	\$72.00	\$391,320.00	\$71.00	\$385,885.00	\$81.00	\$440,235.00	\$66.90	\$363,601.50			
	5.5 Sacks per Cubic Yard), Complete in Place	0, 100			<b>4000,00</b> 2.00		<b>4000,</b> 210100	Ų	, , , , , , , , , , , , , , , , , , ,	<b>V. 1.66</b>	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		<b>4</b>	<b>400.00</b>	<b>4000,00</b> 1100			
8	6-Inch Reinforced Concrete Pavement for	21	SY	\$105.00	\$2,205.00	\$215.00	\$4,515.00	\$204.00	\$4,284.00	\$70.00	\$1,470.00	\$141.00	\$2,961.00	\$83.70	\$1,757.70			
	Driveways (Minimum 5.5 Sacks per Cubic Yard),																	
	Complete in Place																	
9	6-Inch Concrete Curb, Complete in Place	3,820	LF	\$5.15	\$19,673.00	\$5.00	\$19,100.00	\$5.00	\$19,100.00	\$5.00	\$19,100.00	\$10.00	\$38,200.00	\$4.30	\$16,426.00			
10	24-Inch Reinforced Concrete Pipe, ASTM C-76,	399	LF	\$120.00	\$47,880.00	\$130.00	\$51,870.00	\$185.00	\$73,815.00	\$151.00	\$60,249.00	\$124.00	\$49,476.00	\$136.70	\$54,543.30			
	Class III, Complete in Place																	
11	30-Inch Reinforced Concrete Pipe, ASTM C-76,	38	LF	\$175.00	\$6,650.00	\$165.00	\$6,270.00	\$1.00	\$38.00	\$183.00	\$6,954.00	\$140.00	\$5,320.00	\$163.40	\$6,209.20			
40	Class III, Complete in Place	050		4007.00	<b>* * * * * * * * * *</b>	4040.00	****	****	* 400 400 00	****	<b>*</b> 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	****	<b>*</b> 400 400 00	<b>*</b> 400 <b>7</b> 0	<b>*</b> 400.000.40			
12	36-Inch Reinforced Concrete Pipe, ASTM C-76,	652	LF	\$237.00	\$154,524.00	\$210.00	\$136,920.00	\$200.00	\$130,400.00	\$216.00	\$140,832.00	\$200.00	\$130,400.00	\$193.70	\$126,292.40			
13	Class III, Complete in Place 5-Foot by 3-Foot Reinforced Concrete Box Culvert,	503	LF	\$560.00	\$281,680.00	\$560.00	\$281,680.00	\$1.00	\$503.00	\$562.00	\$282,686.00	\$400.00	\$201,200.00	\$542.90	\$273,078.70			
13	ASTM C-1433, Complete in Place	303	Lr.	φυου.υυ	ψ∠υ 1,000.00	φυσυ.συ	Ψ∠∪1,∪0∪.∪U	\$1.00	φυυυ	φυσ2.00	ψ202,000.00	φ400.00	Ψ201,200.00	φυ <del>4</del> ∠.80	ψΔ13,010.10			
14	Type "A" Inlet Per Detail, Complete in Place	2	EA	\$3,500.00	\$7,000.00	\$5,450.00	\$10,900.00	\$4,000.00	\$8,000.00	\$4,250.00	\$8,500.00	\$3,700.00	\$7,400.00	\$3,779.80	\$7,559.60			
15	Type "B-B" Inlet Per Detail, Complete in Place	3	EA	\$5,100.00	\$15,300.00	\$6,550.00	\$19,650.00	\$4,700.00	\$14,100.00	\$5,600.00	\$16,800.00	\$6,500.00	\$19,500.00	\$5,639.00	\$16,917.00			
16	Type "C" Inlet Per Detail, Complete in Place	9	EA	\$5,000.00	\$45,000.00	\$6,050.00	\$54,450.00	\$8,500.00	\$76,500.00		\$50,400.00	\$4,700.00	\$42,300.00	\$5,386.00	\$48,474.00			
	Modified Type "C" Inlet Per Detail, Complete in	9	EA	\$4,900.00	\$44,100.00	\$8,150.00	\$73,350.00	\$4,000.00	\$36,000.00	\$9,310.00	\$83,790.00	\$5,800.00	\$52,200.00	\$10,837.00	\$97,533.00			
''	Place	9		ψ4,300.00	ψ <del></del> , 100.00	ψο, 1ου.ου	ψε 0,000.00	Ψ+,000.00	Ψου,ουυ.ου	ψο,ο το.ου	ψυυ, ε θυ.υυ	ψ5,000.00	ψυΖ,Ζυυ.υυ	Ψ10,007.00	ψυ1,000.00			
18	Shallow Earthen Swale, Including Grading to Drain	272	LF	\$10.00	\$2,720.00	\$28.00	\$7,616.00	\$8.00	\$2,176.00	\$12.00	\$3,264.00	\$10.00	\$2,720.00	\$21.50	\$5,848.00			
	Inlet, Complete in Place	_ = = <b>_</b>	_ <del>.</del>		<del>+</del> -,. <b>-</b> 0.30		Ţ.,J.		ţ=, <b>3.30</b>		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		ļ ,, _3.30		÷ = , = . = . = .			
19	Outfall Restrictor, 24-Inch PVC Pipe (C-900), and	1	LS	\$2,500.00	\$2,500.00	\$4,350.00	\$4,350.00	\$1,500.00	\$1,500.00	\$2,200.00	\$2,200.00	\$2,400.00	\$2,400.00	\$575.00	\$575.00			
	Grout Plug, Complete In Place			<u>                                      </u>						<u> </u>		<u> </u>						
20	Removal of Existing Waterline as Specified in	20	LF	\$25.00	\$500.00	\$44.00	\$880.00	\$31.00	\$620.00	\$35.00	\$700.00	\$30.00	\$600.00	\$37.70	\$754.00			
	Plans, Complete in Place							1										

Bid Tabulation - Bid Opening, March 13, 2024			Environmental A	Illies, LLC	Precise Service	s, Inc.	iCon GC, LLC		Tandem Services	s, LLC	Carter Construction	on, LLC	Mar-Con Service	es, LLC	
City of Kemah				9730 Windfern Road 22337 Sandy			Lane 14115 Norhill Pointe Drive			1100 Winfield Lane		7615 FM 3180		1410 Preston Ave., Suite H	
Evergreen Memorial Parkway Extension				Houston, TX 770	064	Porter, TX 7736	5	Houston, TX 77044		Kemah, TX 77565		Baytown, TX 77523		Pasadena, TX 77503	
LJA Project No. E135-0440				713-559-9372		281-354-5685		713-557-4266		281-947-8378		346-801-3792		713-473-1800	
FRN F	•			Steven Crianza		Alberto Lopez		Chris Burke		Dustin Johnson		Robert Carter		Mario Ramos	
''''	1000			sbourgeois2@environmentalallies.com				chris@icontx.co	om	tandem@tandem	services.com	rcarter@carter-construction.com		mario@marconllc.com	
ITEM		EST.		UNIT TOTAL PRICE		UNIT	TOTAL PRICE	UNIT	TOTAL PRICE		TOTAL PRICE			UNIT	TOTAL PRICE
NO.	DESCRIPTION		UNITS	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM
	12-Inch Waterline (PVC, AWWA C-900, DR-18)	115	LF	\$170.00	\$19,550.00	\$135.00	\$15,525.00	\$108.00	\$12,420.00	\$195.00	\$22,425.00		\$28,750.00	\$134.30	\$15,444.50
	with Ductile Iron Fittings, Open Cut, Joint			ψ 17 G.GG	ψ.ο,σσσ.σσ	<b>V.00.00</b>	ψ10,020.00	ψ.σσ.σσ	Ψ12,120.00	ψ100.00	Ψ22, 120.00	Ψ200.00	Ψ20,100.00	ψ101100	Ψ10,111100
	Restraints (as necessary), Including Sections of														
	Ductile Iron (AWWA C-151, Class 350) (as														
	necessary) and Offsets as Shown on Plans, All														
	Depths, Complete in Place														
	12-Inch Wet Connection, Including Valve Closures	2	EA	\$3,000.00	\$6,000.00	\$1,600.00	\$3,200.00	\$1,178.45	\$2,356.90	\$12,000.00	\$24,000.00	\$1,900.00	\$3,800.00	\$2,111.50	\$4,223.00
	for Line Isolation and Cut & Plug of Existing Line or														
	Removal as Necessary, Complete in Place	2	ΕΛ	¢1 000 00	\$2,000,00	¢1 100 00	¢2 200 00	¢1 250 00	¢2 500 00	¢000 00	¢4 600 00	\$690.00	¢1 260 00	<b>#903 50</b>	\$1,607.00
23	Cut and Plug Existing Waterline (Open cut & Backfill), Complete in Place	2	EA	\$1,000.00	\$2,000.00	\$1,100.00	\$2,200.00	\$1,250.00	\$2,500.00	\$800.00	\$1,600.00	\$680.00	\$1,360.00	\$803.50	\$1,607.00
24	Fire Hydrant Assembly, With Restrained Joints, 4-	3	EA	\$7,000.00	\$21,000.00	\$12,000.00	\$36,000.00	\$9,500.00	\$28,500.00	\$7,500.00	\$22,500.00	\$11,000.00	\$33,000.00	\$10,776.30	\$32,328.90
	Foot Bury, Concrete Collar, Thrust Block,			-					-						
	Complete in Place														
25	Traffic Control Plan, Complete in Place	1	LS	\$8,000.00	\$8,000.00	\$3,000.00	\$3,000.00	\$150.00	\$150.00	\$16,000.00	\$16,000.00	·		\$147,361.00	\$147,361.00
26	Trench Saftey System, Complete in Place	1,710	LF	\$1.00	\$1,710.00	\$0.10	\$171.00	\$0.01	\$17.10	\$2.00	\$3,420.00	\$10.00	\$17,100.00	\$1.00	\$1,710.00
27	Turf Establishment, Full Sodding, Complete in	850	SY	\$8.50	\$7,225.00	\$10.00	\$8,500.00	\$8.00	\$6,800.00	\$7.00	\$5,950.00	\$5.75	\$4,887.50	\$6.90	\$5,865.00
	Place	0.70		\$0.500.00	<b>*</b> 4 <b>7 7 7 9 9</b>	00.574.40	40.500.00	* 4	*******	<b>*</b> 4.045.00	******	***	<b>*</b> 4.000.00	<b>*** *** ***</b>	<b>*</b> 4 <b>7</b> 5 5 6 4
28	Turf Establishment, Hydromulch Seeding,	0.70	AC	\$2,500.00	\$1,750.00	\$3,571.43	\$2,500.00	\$4,000.00	\$2,800.00	\$4,645.00	\$3,251.50	\$2,600.00	\$1,820.00	\$2,464.30	\$1,725.01
29	Complete in Place Traffic Markings, Prep and Paint, 24" Solid White	28	LF	\$15.00	\$420.00	\$5.85	\$163.80	\$8.00	\$224.00	\$7.50	\$210.00	\$23.00	\$644.00	\$10.40	\$291.20
25	Stop Bar, Complete in Place, As Directed by	20		Ψ10.00	ψ+20.00	ψ5.05	Ψ100.00	Ψ0.00	Ψ224.00	Ψ1.50	φ210.00	Ψ23.00	Ψ044.00	φ10.40	Ψ231.20
	Engineer														
30	Traffic Markings, Prep and Paint, 4" Solid Yellow	4,870	LF	\$2.25	\$10,957.50	\$0.70	\$3,409.00	\$0.75	\$3,652.50	\$0.65	\$3,165.50	\$1.50	\$7,305.00	\$1.20	\$5,844.00
	Striping, Complete in Place, As Directed by														
	Engineer			4.0.00				**					** **	4	4
	Traffic Markings, Prep and Paint, 4" Solid White	1,410	LF	\$3.00	\$4,230.00	\$1.00	\$1,410.00	\$0.75	\$1,057.50	\$0.70	\$987.00	\$1.50	\$2,115.00	\$1.20	\$1,692.00
	Striping, Complete in Place, As Directed by Engineer														
	Traffic Markings, Prep and Paint, White Handicap	3	EA	\$400.00	\$1,200.00	\$310.00	\$930.00	\$150.00	\$450.00	\$123.00	\$369.00	\$460.00	\$1,380.00	\$431.30	\$1,293.90
	Parking Symbol, Complete in Place, As Directed	١	LA	Ψ-00.00	Ψ1,200.00	ψ510.00	ψ350.00	Ψ130.00	Ψ-30.00	ψ123.00	ψ303.00	Ψ+00.00	ψ1,500.00	Ψ+31.30	Ψ1,295.90
	by Engineer														
	SWPPP, Area Inlet Protection Barrier, Installed,	6	EA	\$75.00	\$450.00	\$130.00	\$780.00	\$20.00	\$120.00	\$75.00	\$450.00	\$90.00	\$540.00	\$115.00	\$690.00
	Maintained, And Removed, Complete in Place														
	SWPPP, Curb Inlet Protection Barrier, Installed,	26	EA	\$100.00	\$2,600.00	\$130.00	\$3,380.00	\$20.00	\$520.00	\$45.00	\$1,170.00	\$90.00	\$2,340.00	\$115.00	\$2,990.00
	Maintained, And Removed, Complete in Place			40.000.00		40.000.00	04.000.00	0.00.00	0000		40	04.000.00	40.000.00	40.40=00	40.513.35
	SWPPP, Stabilized Construction Exit, Installed,	2	EA	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00	\$100.00	\$200.00	\$4,850.00	\$9,700.00	\$4,800.00	\$9,600.00	\$3,105.00	\$6,210.00
	Maintained, And Removed, In Accordance with														
	Best Management Practices, Complete in Place SWPPP, Reinforced Filter Fabric Fence,Installed,	1,500	LF	\$2.00	\$3,000.00	\$2.50	\$3,750.00	\$4.00	\$6,000.00	\$3.00	\$4,500.00	\$2.50	\$3,750.00	\$3.00	\$4,500.00
30	Maintained, And Removed, Complete in Place	1,500	LI	Ψ2.00	ψ5,000.00	Ψ2.50	ψ5,750.00	Ψ4.00	ψυ,υυυ.υυ	φ3.00	ψ+,500.00	Ψ2.30	ψυ, 1 υυ.υυ	ψ3.00	ψ+,500.00
	SUB-TOTAL BASE BID ITEMS - ITEMS 1 - 36	l			\$1,264,368.25		\$1,298,424.00		\$1,329,350.00		\$1,384,970.50		\$1,392,416.00		\$1,515,571.01
					, ,_ : ., • • • • •		, ,, . <b>_</b>		, , ,		, .,,		, , , , • • •		, ,,

Bid Tabulation - Bid Opening, March 13, 2024				Environmental A	Allies, LLC	Precise Service	s, Inc.	iCon GC, LLC		Tandem Services	, LLC	Carter Constructi	on, LLC	Mar-Con Service	es, LLC
City of Kemah			9730 Windfern I	Road	22337 Sandy La	ane	14115 Norhill Poi	nte Drive	1100 Winfield Lar	ne	7615 FM 3180		1410 Preston Av	ve., Suite H	
Evergreen Memorial Parkway Extension Houston, TX				Houston, TX 77	064	Porter, TX 7736	5	Houston, TX 77044 Kemah, TX 77565 Baytown, TX 77523				23	Pasadena, TX 7	7503	
				713-559-9372	281-354-5685 71			713-557-4266 281-947-8378		1-947-8378 346-801-3792		2 713-473-		3-473-1800	
FRN F				Steven Crianza		Alberto Lopez		Chris Burke		Dustin Johnson		Robert Carter		Mario Ramos	
				sbourgeois2@envii	ronmentalallies.com	alberto.lopez@pred	·		om	tandem@tandem	services.com	rcarter@carter-co	onstruction.com	mario@marconllc.com	
ITEM		EST.		UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM
	SUPPLEMENTARY ITEMS	<u> </u>	0			71102				71102				11102	
37	"Extra" Bank Sand, As Directed by Owner's	100	CY	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$33.40	\$3,340.00
	Representative, Complete in Place				,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , ,	, , ,	, , , ,	, , , , , , , , , , , ,
38	"Extra" Crushed Limestone Bedding, As Directed	50	CY	\$30.00	\$1,500.00	\$30.00	\$1,500.00	\$30.00	\$1,500.00	\$30.00	\$1,500.00	\$30.00	\$1,500.00	\$108.10	\$5,405.00
	by Owner's Representative, Complete in Place														
39	"Extra" Cement Stabilized Sand, 2.0 Sacks per	350	TON	\$35.00	\$12,250.00	\$35.00	\$12,250.00	\$35.00	\$12,250.00	\$35.00	\$12,250.00	\$35.00	\$12,250.00	\$41.60	\$14,560.00
	Ton, As Directed by Owner's Representative,														
40	Complete in Place	200	CY	¢400.00	¢20,000,00	¢400.00	¢20,000,00	£400.00	¢20,000,00	¢400.00	¢20,000,00	¢400.00	¢20,000,00	<b>0405.00</b>	¢40,600,00
40	"Extra" Class A Concrete, As Directed by Owner's Representative, Complete in Place	300	CY	\$100.00	\$30,000.00	\$100.00	\$30,000.00	\$100.00	\$30,000.00	\$100.00	\$30,000.00	\$100.00	\$30,000.00	\$165.60	\$49,680.00
41	"Extra" Reinforcing Steel, As Directed by Owner's	300	LB	\$2.00	\$600.00	\$2.00	\$600.00	\$2.00	\$600.00	\$2.00	\$600.00	\$2.00	\$600.00	\$2.00	\$600.00
	Representative, Complete in Place		-5	Ψ2.00	Ψ000.00	Ψ2.00	Ψ000.00	Ψ2.00	Ψ000.00	Ψ2.00	Ψ000.00	Ψ2.00	Ψ000.00	Ψ2.00	Ψ000.00
42	8-Inch Reinforced Concrete Pavement (Minimum	250	SY	\$55.00	\$13,750.00	\$55.00	\$13,750.00	\$55.00	\$13,750.00	\$55.00	\$13,750.00	\$55.00	\$13,750.00	\$84.40	\$21,100.00
	5.5 Sacks per Cubic Yard), Complete in Place				. ,		. ,		. ,		. ,			·	. ,
43	Surface Restoration, Unpaved Surface (Gravel or	500	SY	\$15.00	\$7,500.00	\$15.00	\$7,500.00	\$28.00	\$14,000.00	\$15.00	\$7,500.00	\$15.00	\$7,500.00	\$21.80	\$10,900.00
	Shell), Complete in Place														
44	6-Inch Concrete Skip Curb, As Directed by	500	LF	\$8.00	\$4,000.00	\$8.00	\$4,000.00	\$8.00	\$4,000.00	\$8.00	\$4,000.00	\$8.00	\$4,000.00	\$8.00	\$4,000.00
	Owner's Representative, Complete in Place ,														
45	Complete in Place			<b>#7.000.00</b>	<b>#44.000.00</b>	#7 000 00	<b>#44.000.00</b>	# <del>7</del> 000 00	<b>#44.000.00</b>	<b>#7</b> 000 00	<b>#44.000.00</b>	<b>#05.000.00</b>	<b>#</b> 50,000,00	#7.000.00	<b>#14.000.00</b>
45	12" Insertion Valve (AWWA) with Adjustable Box, Joint Restraint (as necessary), Accessories,	2	EA	\$7,000.00	\$14,000.00	\$7,000.00	\$14,000.00	\$7,000.00	\$14,000.00	\$7,000.00	\$14,000.00	\$25,000.00	\$50,000.00	\$7,000.00	\$14,000.00
	Concrete Collar, As Directed by Owner's														
	Representative, Complete in Place														
46	Regrade Existing Ditch to Flowline as Specified in	500	LF	\$15.00	\$7,500.00	\$15.00	\$7,500.00	\$15.00	\$7,500.00	\$15.00	\$7,500.00	\$15.00	\$7,500.00	\$21.40	\$10,700.00
	Plans, As Directed by Owner's Representative,				. ,		. ,		. ,		. ,	·		·	. ,
	Complete in Place , Complete In Place														
	Concrete Storm Manhole (4-Foot Diameter), As	2	EA	\$4,000.00	\$8,000.00	\$4,000.00	\$8,000.00	\$4,000.00	\$8,000.00	\$4,000.00	\$8,000.00	\$4,000.00	\$8,000.00	\$6,648.60	\$13,297.20
	Directed by Owner's Representative, Complete in														
	Place , Complete in Place		2) (		40.000		******		40.000		40.000	4.0.00		40.1.10	442.222.22
	Select Fill, Compacted per ASTM D698, As	350	CY	\$18.00	\$6,300.00	\$18.00	\$6,300.00	\$18.00	\$6,300.00	\$18.00	\$6,300.00	\$18.00	\$6,300.00	\$31.40	\$10,990.00
	Directed by Owner's Representative, Complete in														
49	Place Flyash for 8-Inch Stabilized Sub-Grade (3% by	126	TON	\$125.00	\$15,750.00	\$125.00	\$15,750.00	\$125.00	\$15,750.00	\$125.00	\$15,750.00	\$125.00	\$15,750.00	\$138.00	\$17,388.00
	Dryweight) (30 lb/sy), As Directed by Owner's	120	I TOIN	ψ123.00	φ10,730.00	φ123.00	φ13,730.00	ψ123.00	φ10,730.00	φ123.00	φ13,730.00	φ123.00	φ13,730.00	φ130.00	ψ17,300.00
	Representative, Complete in Place														
	Extra Depth Bury for Fire Hydrant, As Directed by	10	VF	\$150.00	\$1,500.00	\$150.00	\$1,500.00	\$150.00	\$1,500.00	\$150.00	\$1,500.00	\$150.00	\$1,500.00	\$353.50	\$3,535.00
	Owner's Representative, Complete in Place						-						,		
	Complete in Place														
	<b>SUB-TOTAL SUPPLEMENTARY ITEMS - ITEMS 3</b>	7 - 50			\$124,150.00		\$124,150.00		\$130,650.00		\$124,150.00		\$160,150.00		\$179,495.20

Bid Tabulation - Bid Opening, March 13, 2024			Environmental Allies, LLC		Precise Services, Inc.		iCon GC, LLC		Tandem Services, LLC		Carter Construction, LLC		Mar-Con Services, LLC		
City of Kemah			9730 Windfern Road		22337 Sandy Lane		14115 Norhill Pointe Drive		1100 Winfield Lane		7615 FM 3180		1410 Preston Ave., Suite H		
Everg	reen Memorial Parkway Extension			Houston, TX 77	064	Porter, TX 7736	5	Houston, TX 77044		Kemah, TX 77565		Baytown, TX 77523		Pasadena, TX 77503	
LJA P	roject No. E135-0440			713-559-9372		281-354-5685		713-557-4266		281-947-8378		346-801-3792		713-473-1800	
FRN F	F-1386			Steven Crianza	ven Crianza F		Alberto Lopez		Chris Burke		Dustin Johnson			Mario Ramos	
			sbourgeois2@envi	ronmentalallies.com	alberto.lopez@pred	erto.lopez@preciseservicesinc.com		chris@icontx.com		tandem@tandemservices.com		onstruction.com	mario@marconllc.com		
ITEM		EST.		UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM
	SUMMARY OF BID														
										\$1,384,970.50		\$1,392,416.00			
	BASE BID ITEMS	ITEMS	i 1 - 36 <u></u>		\$1,264,368.25	\$1,298,424.00		\$1,329,350.00						<u>\$1,515,571.01</u>	
	SUPPLEMENTARY ITEMS 17 - 50		37 - 50		\$124,150.00	\$124,150.00		\$130,650.00		\$124,150.00		\$160,150.00		\$179,495.20	
	TOTAL DAGE DID AND CLIPDI EMENTARY ITEMS 4 FO		\$1,388,518.25		\$4.422.574.00		\$4.460.000.00		¢4 E00 400 E0		0 \$4.552.566.00		\$1,695,066.21		
	TOTAL BASE BID AND SUPPLEMENTARY ITEMS 1 - 50 ITEMS			ψ1,300,310.25	•	\$1,422,574.00	-	\$1,460,000.00	-	\$1,509,120.50	\$1,552,566.00		<u>\$1,095,000.21</u>		